Determine line

Calculate (EPA)N
and (EPA); for

Calculate the sum of the individual
line

[Total (EPA)] = S(EPA):

No Shielding of lines or reduction in ice thickness is
allowed. Define force coefficient C, per Table 2-8

Determine
the treatment » placement and >
of Line Loads Spacing each line.
[Total (EPA)N] = 3 (EPA)N ' o
Is the /72,
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i See Section 2.6.9.5 and
4 O I Figure 2-12 C, shall be
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&l considered as a group
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cluster or block
in the Normal and

Calculate Area, Gross Width
(with and without ice) of the

Transverse Directions
(EPA)y and (EPA);

Is the
line part
of a Cluster
or a Block?

Yes

line cluster
within the cross
section of the
tower or within
the face

Zone

Yes

Calculate Is the line 7z
Ko=(1—-¢) subjected to
q +-No Supercritical or /, — Ig_.
See Section . No A A 7
26.92 Transitional
T Flow?
Square Cross-Section
Figure 2-3: Face Zone for Appurtenances
Yes
A 4
Calculate (EPA)a
Based upon
N orientation to the N
wind.
No
TIA-222-G

If [Total (EPA)A ]
is greater than
[Cluster (EPA)4] use
[Cluster (EPA)A]

Determination of Ka for Feed Lines

www.towernx.com

END

© John R. Erichsen


http://www.towernx.com/

